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(Use only blue/black ball-point pen in the space above and on both sides of the Answer Sheet)

1. Within 10 minutes of the issue of the Question Booklet, check the Question Booklet to ensure that
it contains all the pages in correct sequence and that no page/question is missing. In case of faulty
Question Booklet bring it to the notice of the Superintendent/Invigilators immediately to obtain a
fresh Question Booklet.

2. Do not bring any loose paper, written or blank, inside the Examination Hall except the Admit Card
without its envelope.

3. A separate Answer Sheet is given. It should not be folded or mutilated. A second Answer Sheet shall
not be promided. Only the Answer Sheet will be evaluated.

4.  Write your Roll Number and Serial Number of the Answer Sheet by pen in the space provided above.

5. On the front page of the Answer Sheet, write by pen your Roll Number in the space provided
at the top, and by darkening the circles at the bottom. Also, wherever applicable, write the
Question Booklet Number and the Set Number in appropriate places.

6. No overwriting is allowed in the entries of Roll No., Question Booklet No. and Set No. {if anyj on
OMR sheet and also Roll No. and OMR Sheet No. on the Question Booklet.

7. Any change in the aforesaid entries is to be verified by the invigilator, otherwise it will be taken as
unfair means.

8. Each question in this Booklet is followed by four alternative answers. For each question, you are to

record the correct option on the Answer Sheet by darkening the appropriate circle in the corresponding

row of the Answer Sheet, by ball-point pen as mentioned in the guidelines given on the first page
of the Answer Sheet.

9. For each question, darken only one circle on the Answer Sheet. If you darken more than one circle
or darken a circle partially, the answer will be treated as incorrect.

10.  Note that the answer once filled in ink cannot be changed. If you do not wish to attempt a question,
leave all the circles in the corresponding row blank (such question will be awarded zero mark).

11. For rough work, use the inner back page of the title cover and the blank page at thie end of thg
Bookiet.

12. Deposit only the OMR Answer Sheet at the end of the Test.
13. You are not permitted to leave the Examination Hall until the end of the Test.

14. 1f a candidate attempts to use any form of unfair means, he/she shall be J;
as the University may determine and impose on him/her.
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Research Entrance Test—2015
No. of Questions /%1 $ a1 : 60

Time /¥9% : 1 Hour/9va) Full Marks/quiis : 180

Note :

(520)

Each question carries 3 marks. One mark will be deducted for each
incorrect answer.

YAF YW 3 dF H 2 NelF T I F TG T i wre e |

(1)

(3

Each question is followed by FOUR alternative answers. Only ONE of
these answers is correct. Select the correct answer and indicate it in the
appropriate circle on OMR Answer Sheet provided, by darkening the
circle, using Ball Point Pen.

WW%WWW@W’BIW?WEWF@%%
Hamgﬁﬁamaﬁﬁa@w-qa%mﬂﬁﬁamwﬁaﬁ
Fe Fh 3 Fife)

Attempt all questions from S, No. 1 to 40.
4 TE 18 40 &% ah el @ Fe 2

Out of three sets of questions on languages (41 to 50 Hindj 57 to 60
Sanskrit and 61 to 70 English), attempt only two sets Thus, 2

candidate is required to answer in all 60 (Sixty) questions only.

?ﬁqmmaﬁ%sw(cuﬁ50%%51@60*?'%621761%70

ﬁﬁ)ﬁ@ﬁﬁ?ﬁwaﬁ%mtﬂaawﬁl :
$ 60 IH F I ¥y 3§ ¥ e )

P.To,
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1. Breeze is to Cyclone as Drizzle is to

(1) Earthquake (2) Storm (3) Flood (4) Downpour
T % T w1 Swad 4 99 gy 2, s 6 e 7 2
(1) (2) M (3) =13 (4) TEeEm 79

woman said, “His brother’s father is the

2. Introducing a man to her husband, a
the woman related to this man?

only son of my grandfather”. How is
(1) Mother (2) Aunt (3) Sister (4) Daughter

w wfs & @ 3 e TR g T e 3w, ‘o g w T A
mmmﬁgﬁ%"lqﬁwmmm&ﬂwm%?

(1) =t (2) =l (3) s (4) Th

3. In the following Sequence, what would be the next number?

Erefirfiga 3@ A sl wEn & Eei?
3,6,5,5,8,3,12,—

(1) 0 (2) 1 (3) 2 4) 3

Mamta, Dimpy and Gitika. Soha is shorter

nds—Soha, Kim,
e tallest. Dimpy is little shorter

4. There arc five frie
er than Gitika. Mamta i1s th

than Kim, but tall
thap Kim, but little taller than Soha.
If they stand in order of their height, who will be in middle?
u) }(im {2) Gilika (3) Soha (4) Dim oy
4

(520)
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o wefwal =, e, wow, feft @a dfifee @, o & @@ 3, @f
Hifvw & o=t ?) oo o=@ o R Reft, fem @ R S, dfm a3 9
=l 2l

i 3 wgfml st o & #9 3 wd At R, @ fiw § B emm?

(1) f&m (2) i (3) @ . (4) ferdt

Find the odd one out

(1) Debit (2) Deposit (3) Withdrawal (4) Deduction
o w2 B 3 o= '
(1) e (2) s (3) ITE (4) "2m

M walks 7 km towards East and then he turns left and walks 3 km. . =« he

turns right and walks 7 km. Further he turns left and walks 6 km W faris he
from his starting point? ¥

(1) V158 (2) Y113 (3) V145 (4) None of these

M‘Ffﬁ?"ﬁ7kmm%,ﬁﬂasmﬁ%ﬁm?ﬂh3kmaam%;ag§am
E{Tﬁ‘{ﬂﬁ]’iﬂ%ﬁ?kmmalmaﬁaﬁ’mﬂ%mﬁ'kmménw:.rq
YR Tod @ Reaft gt w27

(1) V158 (2) V113 (3) .\1145 (4) T8 ﬁ“&‘ T

In a row of boys, Rakesh is 11th from the right, Mohan is 15
& ’ ’ t i
Rakesh is 12th from Mohan, then what is the total mamber o h from lef, |f

0YS In the royo
ﬂsﬁ-ﬁ@ﬁﬁﬁma&:ﬁaﬁzéuﬁ%,mmm@mﬁl L.
LUSICIRGCIBVCHR SR R o - oS B S 21 3

(1) 36 2 a7 (3) 38 ) 39

(PTo,
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10.

11.

Mr. A meets Mrs. B. B is mother of a son C and a daughter D. E is mother of 4
C is married and has a son. E is daughter-in-law of B. How is Arelated to B ?

(1) Uncle (2) Grandson (3) Son (4} Nephew

o A st B @ fieR 1 B W g9 ¢ du1 @ Gt D W@ §1 A HE A
3 C R 2 qu 5% w73 21 B H s E R A, B ¥ T yeR wEiq w7

(1) =m=n (2) U= (3) T (4) SIS
In code language if ‘“WORK’ is presented by 4, 12, 9, 18, then how would
‘WOMAN’ be coded?

F2 et # I WORK # 4, 12, 9, 18 T @ Ren e 2, @ ‘WOMAN' %}
g e gfed T S

Seq) 23, 15, 13, 1, 14 (2) 23, 12, 16, 14, 13
(3) ~, 5 14, 26, 13 (4) 4, 26, 14, 13, 12
In code language, if ‘TARLE’ is written as ‘UZCKF’, then how would ‘CHAIR’ be

coded?

Fe e W afe ‘TaBLE’ # ‘UZCKF % 1 1 fomn S 3 @ CHAIR #
TR Fiea T smm?
(1) EGBHQ (2) DGBHS (3) DIBJS (4) BGZHQ

business conference, the ten people present all shake hands with

ndofa
Atthee e. How many handshakes will there be altogether?

each other onc

mﬁmwﬁﬁmﬁﬁﬂinﬁwmﬁwwwﬁmﬁﬁwﬁ

?ﬂﬁw‘mmmﬁwwmﬂqWﬁmﬁ?

(2) 45 (3) S5 (4) 90



12.

13.

14,

15.

(520)
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If the polynomial f (x)=2x> + mx? + nx —14 has (x-1)and { x + 2) as its factors,
then the value of m x n will be

TR f(x)=2x" +mx® +nx—~14 & (x-1) QU1 (x+2) TUE (I=%) B, @ mxn
& 9H T BAN?

(1) 25 (2) 27 (3) 30 (4) 32

If secB+tan® =1, when 0 <9 < -g, then sin® is

M sec® +tan B =1, s Osesg%, @ sing @1 99 2

1 1 V3
4 5 qf ¥
(1) (2) > (3) ] (4) 5
Choose the one which is different from the others
ot T B T R S Ay e 2
(1} 119 (2) 136 (3) 147 (4) 153

If the length of minute hand of a watch is 3-5 cm, then ti

P of the minye hand
will cover a distance in 20 minutes is (n = 22]

Hﬁaﬁaﬁﬁwﬁﬂgﬁm3'5cm%,ﬁﬁ%ﬁ%§ﬁqﬁm20m
F e mh g am [ 22)
—_
2) 75 cm 3) 7.3
(1) 7 cm (2) cm 4 8 o
F

(P.T.O_)
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16. Aand B are friends and their age differ by 2 years. A’s father D is twice as old as

17.

18.

19.

A and B is twice as old as his sister C. If the age of D and C differ by 40 years,
the age of A is

(1) 20 years (2) 24 years (3) 22 years (4) 26 years

Astpafmdishfimamom2al 8 A% & DHA W AF 3w
:_ﬁﬁaﬁ%aﬂnB?ﬁwWﬁmcaﬂwﬁaTﬁ%Wﬁﬁﬁcﬁw
40 af &1 3 R, @ A Fr3W 2

(1) 20 = (2) 24 =8 (3) 22 @ (4) 26 =4

The area of square inscribed in a circle of radius r is

"ﬁmﬁaﬁﬁmﬁm{mm%
(1} 4r (2) 1r? (3) V2r? 4y 2r*

If the sum of the two numbers is 16 and sum of their reciprocal is 1, then

numbers are
gfe @ gEed F A lﬁéamwéwaﬁ%wﬁmnﬁn‘%%,aﬁ*é@ﬁ%
(1) 10, -26 (2) 6, 10 @) -2, 18 @) 4, 12

nd 12 boys can finish a work in 10 days while 6 men and 8 boys can

8 men a _ ‘
The time taken by one man alone to finish the work, 1s

finish it in 14 days.
(3} 140 days {4) 160 days

oﬁqﬁwm%wﬁﬁmaﬂt

(1) 180 days (2) 80 days

mﬁima@ﬁ%@mﬁl
Zaﬁg@nmaﬂmﬁ?ﬁwm

i

O oft  BMOT @ 100
) 180

(

(520)



RET/15/TEST-A

20. If the HCF of 65 and 117 is expressed as 65m +117n, then the values of m and n

are

IR 65 3R 117 & HCF 1 65m +117n ¥ w0 & Tt Ren /n 3, @A m A
n &l Hﬂ%

() m=2, n=-1 2) m=3, n=-2

(3 m=1, n=1 4 m=,n=2

21. The World Environment Day is celebrated on which of the following dates?
(1) June 5 {2) June 15 (3) June 25 (4) January S
frafafga 4 @ frm R R wism e a9 smar 27

(1) 5 (2) @ 15 (3) ST 25 (4) ¥t 5

22. Which of the following cities has the biggest network of underground railways?

(1) Paris (2) New York () Moscow (%) Tokyo
frff # @ frw o & i (o9 w1 q99 99 G 27
(1) (2) (3) = (4) AfsA
23. Which of the following diseases is not transmitted by mosquitoes?
(1) Malaria (2) Filaria (3) Typhoid (4) Den
gue
frfafar & @ s=-dt S w=d o 3R =& ad 22
(1) Tt (2) wn=tam (3) TH%MIE ()
(520) ?

(P.T0)
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24.  Which of the following is not correct about Mahamana Pandit Madan Mohan
Malviya?

(I} He served as Congress President
(2) He established the Banaras Hindu University

(3) He practised law at Allahabad

{4} He served as Chancellor of Banaras Hindu University

e Yfed HGH Aied Wi % weed § Fafafid d @ @9 @@ A 27
(1) T FI9 F I8 @

(2) 3% Fl feg Fvafyene € T B

(3) 3CH FARERE § Fehlcd &

() 3 w=eft ey frafews 5 pofef (ew) @

25. A device which converts chemical energy into clectrical cnergy is called

(1) motor (2) generator

(3) moving coil meter (4) battery
@Wﬁwﬁ%mﬁﬁgﬂmﬁuﬁaﬁhmé,ﬁwmé
(2) S

(4) ==h

(1) WX
(3) wfim e A
f URL 1s

ource Locator

ng. Full form © |
(?) Uaiform Resource Link

(1) Uniform RES | |
r— Registered Link (4) Unified Resource Link
(3y Unuof

10

(520)



27.

28.

(520)
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URL %1 g0 vs¢ 8
(1) T e A (2) Thend ferd fere
(3) ThwH WMred e (4) Thwrse fard fos

Which scheme of the Government of India has been recognised by the Guinness
Book of World Records recently?

(1) Direct Benefit Transfer of LPG
(2} Pradhan Mantri Jan Dhan Yojana
[3) Atal Mission for Rejuvenation and Urban Transformation

(4) Pradhan Mantri Avas Yojana

wﬁﬁﬁﬁmammtﬁﬁmwmmaﬁﬁwﬁﬁéﬁﬁmﬁgmmmwmwmﬁné
27

(1) TAodtosfte &1 Hiam M FiaTwr )

(2) FaFEE H S g9 Sl B

(3) FHA T MEl TRW & Rt azed fiem )
(4) vRe SEw S )

When was Pradhan Mantri Jan Dhan Yojana launched j India?
a:

(1) 28th January, 2014 (2) 15th August, 2014

(3) 28th August, 2014 (4) 26th Januury, 2015

il
(P.T.0)
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WA 9areh s oue 9] F@ TR o T8 oY ?
(1) 28 F9a@, 2014 @l (2) 15 3T, 2014 i

(3) 28 3T, 2014 & (4) 26 al, 2015 =

29. According to Human Development Report, 2014, India’s position among 187
countries was

(1) 101 (2) 112 (3) 131 (4) 135
T T gEeis RO, 2014 & R 187 W § WRA FI WM &1

(1) 1013 (2) 1124 (3) 1314 (4) 1354

30. The headquariers of World Trade Organisation is in

(1) Montreal (2) Geneva (3) New Jersey  (4) Seattle

fiva = T F gerer R R

(1) wifzEa | (2) SH@r H (3) 7 vt A @) fres
31. Computer virus is
(1) software (2) hardware (3) bacteria (4) firmware
o aa@
(2) TEAW (3) St (4) T

32. A list of coded instructions is called
{1) computer program (2) algorithm
(4} instruction set

12
(520)



33.

34.

(520)

FAFA I H HE Il

RET/15/TEST-A

(1) ¥z ym (2] TeiRen (3) FAEE (4) g1 T2

ICT stands for

(1) International Communication Technology
(2} Intra Common Terminology
(3) Information Communication Technology

(4) Inter Connected Terminals

AEotflodto F amyr 2

(1) TS SRfRRTE T (2) 321 FHA AT
(3) FHEYN FEHFIN e (4) T FAF¥E fiem
MOOC stands for

(1) Media Online Open Course
(2) Massive Open Online Course
(3] Massachusetts Open Online Course

(4) Myrind Open Online Course
TF (MOOC) %1 quiwy 7 37

(1) Hfem Avems 3w #ird

(2) MyF sitwT snTemEa g

(3) FHTGAEE S A W
(4) = A e 2

13

PTo )
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35. An informati .
* au ; ;
on, combination of graphics, text, sound, video and animation is

called

(1} multiprogramme (2) multifacet

(3) multiprocess (4) multimedia

T8, qefurs, afy, fifd @ Geflaa § qF g F O FEd o7

(1) Fedsimm™ (2) HedHHT (3) TedAE (4) mediHifen

36. Which of the following is not open source software?

{1} Internot Explorer (2) Fedora Linux

(3) Open Office | (4) Apache HTTP Server
Freffaa 3 8 @1 Fed @ gieeem @ 27

(1) 3T T (2) ¥ femFa

(3) 3R 3TfER (4) e TEododtodlo FE

37. What is the full form of IP ?

(1) Internet Program (2) Interface Protocol

(3) Internet Protocol (4} Interface Program

32['|§otﬁo & EILEC R %?
(1 7o T
(3) éﬂﬁ?wﬂ

(2) W WAHE
(4) $CCFE FiIH

14
(520)



38.

39.

40.

(520)

RET/15/TEST-A

Web pages are written using
(1) URL (2) HTML (3) HTTP (4) FTP
39 ¥ form ww § foran s 27

(1) JoHMoTeAe  (2) THoHoWHoUHo (3) THodlodtoPlo  (4) Thodtohho

Reusable optical storage will typically have the acronym

(1) CD (2) DVD (3] ROM (4) R/W
FAIST AfHA e H AR W fra ohaeff wee @ St frm w2
(1) Hogto 2) Qoo (3) T (4) IR /zo7

The process of transferring files from a computer on the Internet to your
computer is

(1) Downloadiﬁg (2) Uploading
(3) FTP (4) JPEG
mwimmwmﬁmmﬁmi‘

(1) SEatfen (2) e 8) WodeRe (4] Sododomto

15
(PT0,
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Hindi Language
fedt
Q. No. 41 to 50
41. fmfefism 4 2 sh-m s yg &7
(1) gedt W T8 o1 W
(2) 3w ¥ FEeEpd @
(3) @t fere 3 frerm § smen i
(4) 3oH mifs wgfa @gd 1 W R

42, Pofafas 3 @ s wee ‘g & why @

(1) Sed (2) g (3) TR (4) forcfiqa
43. ﬁn%ﬁaamﬁﬁﬁﬁﬂqmﬁaﬁ@mm?
(1) F (2) Y (3) qewiicE (4) HEH

44, ﬁ-qfaﬁgaawﬁﬁﬁﬂq-mﬁmm%?
(1) W%@ﬁ%%wm%
(Q)W#WW“@% |
l:,))mqg—;;%mma‘%%@ﬂ"%
(4)mgmqﬁamr5@zﬂa%%%?

4. -m o Tb o

ﬁﬁﬁaﬂtﬁ.ﬁ () w3 frae T
mﬁﬁﬁﬁﬁﬁqa (4) vl fraE 1g o
(3) @2

16



46.

47.

48.

49,

50.
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gt T Sgia e

o & off T ot 9F
—mifs i R R 27

(1) e AT (2) Fare

(3) Fary foe (4) AT

'ﬁw@m’%&m%@ﬁ-mg?

(1) ™A TTUE gReely (2) FEEER e e s
(3) TER WiF (4) STTEHITEH el

‘W@ S g IR [ o F dEw A 7

(1) Rreyar fe (2) FHAT

(3) Ty Y & (4) iR Rk

! drehl /o Fm d R} R e e 22
(1) =9 (2) srchirg (3) TeremagR (4) gomg
T g W e @ § g s

WA 9 WE A YR A O wy gan

(520)

30 2R F = R
(1) R Tw (2) gorefera
(3) FER T (4) @m

17
P10,



RET/15/TEST-A

Sanskrit Language
WEhd Wl
Q. No. 51 to 60

51. deM gy fRad add?

) @ 7 (3) 8 (4) 10

(1) TrcHifeE: (2) oTE: (3) HIferem™: (4) =T

53. GO @Al & AAA
(1) St (2) oTH: (3) fCTGr: (4) W

54. ‘THEUREE w@Eal &7

(1) aeHi®: (2) ¥E: (3) FRww: @) =T
s5. TR TRl % 7
(1) = (2) ierara: (3) aedi: (4) T
56, RIS il T |
(1) A @) e (3) o (@) @
18

(520)



57.

58.

59.

60.

(520)
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ygaraHE
(1) s v (2) =i Tofd
(3) e Tau: (4) wifere1: T

weeE gerifays: wuafa
(1) @, @, @ (2) T, TNHM, T

3 2W W/, T @ (4) W, W, T

“m%aﬁaﬂtwﬁﬁm%t”wwwé@mﬁma@mé

(1) wamw @ 9w Sga: (2) YTy A T IR

(3) g AfE: TR (4) v af@: T T

g R e

(1) rferer: (2) wra: (3) (4) Wiy
19

(P.T.0,



RET/15/TEST-A

English Language
ST W
Q. No. 61 to 70

61. Choose the correct meaning of idioms from the alternatives given below :

To fight tooth and nail
(1) To fight cowardly
(2) To fight a losing battle
(3) To make every possible effort to win

{4) To lose everything while engaged in fighting

62. Choose the correct alternative to complete the following sentence :
2

Can you tell me
(1) where does your brother live |

(2) where your brother did live
(3) where your brother lives

where lives your brother

(4)

mill in the blank with the correct preposition.:
1
63. " accede 4 ——— my request.

(2) for (3) in (4) about
(1) to

20
(520)
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64. Select the word which is nearest in meaning to the given word :
Infirmity
(1) Disease (2) Weakness (3) Seriousness (4) Ability

63. Choose the correct indirect form of the following exclamatory sentence :
He said, “Alas ! [ am ruined”.

(1) He said with sorrow that he is ruined
(2) He exclaimed with sorrow that he had been ruined
(3) He said with sorrow that he hag been ruined

(4} He exclaimed with sorrow that he was ruined

66. Give the antonym of the following word :

Reveal
(1) Explicate (2) Disclose (3) Conceal 4) Dissipate

67. Name the appropriate figure of speech in the follow;
The camel is the ship of the desert,

ng sentence 2

(1) Sin.lile (2} Oxymoron (3) Metaphor (4) HYPerbole

68. Choose the correct word for the following .

Broad-minded in views —

(1) Defeatist (2) Catholic (3) Chauvinis,

e —

“ Stoj,

(520) 21

(P.T.0,
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69. Identify the part of the sentence which has an error in it

The boy said that he will begin his work the next day
(1) (2) (3) (4)

70. Choose the correctly spelt word

(1} Vaccuum (2) Vacuum (3) Vacuam (4} Vaccuam

* * K

520)—4000
29 D/5(520)
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SPACE FOR ROUGH WORK
TF &1" & forn omg

(520 5

(P.T.0,)



suforal & feg fdw

(38 i “Eﬁu?m:ﬂﬁm—ggmamm—m%aﬁqﬁmmﬁ?ﬁmﬂﬁam—mﬁaﬁé&a@)

1V,

11.
12.

13.

14.

mg%ajrﬁaﬁ%‘mﬁqz\%m%ﬁé@ﬁﬁwﬁwﬂqaﬁ%?jaﬁtﬁ%m
7 :rgﬁ_?wgﬁfazm A T 9N W OIER gEAl dere wa-flesd EaE el gEATE
awfi fer wE w A |

Wa}{wmﬂﬁmwr%ﬁn%ﬂw%azﬁﬁafﬂarmwﬁéﬁwwmﬂﬁqﬁﬁs

S e B fem T R @ 7 @ 9F ek 7 @ Fpd W qEU 917 T fay 9 Faer I
7 F7 & gogieT fEar A

T HTFAE AU IO TA B FEE THH STRI-Y8 R A fyifm wm ® e

m-wiﬁumqﬁwﬂ?@mmﬂiﬁﬁuﬁammﬁﬂ@ﬁmaﬁﬁﬂ?ﬁﬁmaﬂ?
aﬁaﬁmﬁaﬁm-g@mmmam@zmwaﬁmwﬁmﬁﬁx

Sl me Fe TH W SEGEE HEN, W-GEE W@ d o e (e FE B Tw oAR-IEE W

A Ho H Fe THe e WA Ho # gt § sufenad FOSAAK & 2
i g B FE ) i e Pl g0 T e Afd s T T SF W H A
oM S

W--qfsm::ﬁwiaﬁm%m%mf—cwwfaﬁ@%fmm%'émam%%ﬁmm--
tﬁfﬁﬁmﬁﬂmdﬂiétm#ﬁ??m?qﬁa}m—wiymgywﬁ#ﬁﬁﬁﬁiwﬁ?#m
FT &/

e el & TR R (e ﬁﬁ?%’r?ﬁaﬁmaﬁt@@ affs gl ® W A T AR
qaaﬁtrﬂqnimﬁma%wwwaﬁmu

can § e o AE T 2 Jifird It wgen A8l S Al 3| ufg wm &l ¥ # mm a’mzﬂgﬁ
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